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!L!m3r!ck

Th3r3 *nc3 w@s @ l@dy fr*m B@th,

Wh* th*^ght th@t sh3 c*^ldn’t d* m@th,

S*, sh3 st^d!3d wr!t!ng @nd @rt,

Wh!ch w@sn’t v3ry sm@rt,

@s sh3 c*^ldn’t t3ll P!c@ss* fr*m Pl@th.

Key:

A=@

I=!

E=3

O=*

U=^

Reflection:

When writing this poem, I thought that it might be interesting to substitute only the vowels because every word contains a vowel and would, therefore, be changed. I knew that this strategy would create a “private” language fairly easily, particularly because many of my substitutions are visually similar to each other. For instance, “!” and “I” are both linear shapes with few distinguishing features attached to the vertical line, “@” bears a similarity to “A,” and “3” is a backwards “E.” While these visual clues make the poem rather understandable by a human reader, they would fool most computerized information retrieval systems. By writing this poem, the contrast between human interpretation and machine reading was made explicit.
The structure of the poem also leant itself to human understanding; the limerick form is well-known and follows a specific rhyme scheme, which makes it easier for the reader to fill in the gaps caused by changes in orthography. However, a machine would not be able to hear rhyming patterns, although it might be programmed to find similarities in last syllable of each word; for instance, it might be able to notice that several lines end with an “@th” form. This recognition of the similar word form might not bring any clarity to the poem, but it demonstrates that machines decode words and letters based upon how they are programmed. This poem helps to show that the strings of letters that make up words are arbitrary and are based upon convention, and it also stresses that there is no inherent meaning attached to an order of letters.
